[t Moltiplicare per potenze di dieci ( numero mancante
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Nome: Data: Punteggio:
7,114 x =71.14 4,63 x = 463
2,207 % = 2207 8, 096 x = 809.6
5,307 x = 530.7 6, 063 x = 606.3
6, 829 x = 6829 9,247 x =924.7
1,309 x = 1309 8, 121 x =812.1
7,737 x =77.37 7,575 x =757.5
2,752 x =27.52 10, 143 x =1014.3
7, 644 x = 76.44 7,99 x = 7990
8, 486 x = 84.86 7,639 x = 7639
10, 596 x =105.96 5,288 x = 528.8
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‘ﬁi & Moltiplicare per potenze (;i dieci ( numero mancante

Nome: Data: Punteggio:
7,114 x 10 = 71.14 4,63 x 100 = 463
2,207 x 1000 = 2207 8,096 x 100 = 809.6
5,307 x 100 = 530.7 6,063 x 100 = 606.3
6,829 x 1000 = 6829 9,247 x 100 = 924.7
1,309 x 1000 = 1309 8,121 x 100 = 812.1
7,737 x 10 = 77.37 7,575 x 100 = 757.5
2,752 % 10 = 27.52 10, 143 x 100 = 1014.3
7,644 x 10 = 76.44 7,99 x 1000 = 7990
8,486 x 10 = 84.86 7,639 x 1000 = 7639
10, 596 x 10 = 105.96 5,288 x 100 = 528.8
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